A>3 AKT A E 0 FERALILS » B3
PRPFRTE VAL p R EME $£FR

— P R PT AVREH Y L WA R EF T ? (104)

S~ EeszZ Y 4 d (G) 2 (g) FEM SRR (L) SR A
(DM G LAFEE g | AFa 4 4%k E 4 ¥ & J2 (GgLl)
Bisp o AA R kE L e ? (104)

A E E R PEE o Ui G R 2 (5 4)

i

o~ F !F{f]' &%,,,%JErl/f/é]J’jﬁ'l’“ﬁ;ﬂﬂFﬁ°(10A\)

J=4

s At BT hfasE 0 T A g BfEEE ST - (15 4)

= ~ A iF“”Kfr'LE@'
|-

ST S RA R WG Ee pa
H#a = & 3

e o e - %ﬁ’fﬂ*ﬁm@ o S E M T mat 2 o (10 &)

v (ARG ) f - PREehE - G S BLBRACEEF S kg A
PR E R Mg d (B %) £- Bz FEE S Bk » 55 > 2
FREZHEEH N RPEREFR DgEd - 3 T4 45 FR %
i S IAR RE 2 P 2 o (15 4)

A~ ~ What is the angular momentum quantum number of the first two valence
electrons in an atom of lead ? (5 4 )

1~ Decide whether the following molecules are polar or not? (a) CIF; ; (b) PF3 ;
(c) PFs5 5 (d) SF4. (10 )

- Define the Gibbs free energy. ( 5 4 )

-~ — ~ For the reaction, 2HI — H, + |,, write down its rate law. ( 5 4 )
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